Instrukcja montazu gmoli dla / Crash bars installation instruction for
Orurowanie powinno by¢ zaktadane tylko przez osobe wykwalifikowang. Nalezy zwrdcié

szczegblng uwage na wigzki elektryczne, przewody hamulcowe oraz przewody gumowe
chtodzenia silnika tak, aby nie byty przycisniete lub nie tarty podczas eksploatacji o
gmole z powodu Zle przeprowadzonego montazu orurowania.

Catos$¢ orurowania zatozy¢ swobodnie dopiero na korcu skreci¢ docelowo.

1. Przymocowac prawe orurowanie (Rys. 1 pkt. 6) do rurki stelaza kufra za pomocg 2

/ \ obejm typu ,,U” z zestawu (Rys. 1 pkt. 5).
W sktad zestawu wchodezi (jak pokazano na Rys. 1): 2. Przykreci¢ orurowanie do rozwidlenia ramy motocykla uzywajac jednego uchwytu
1. 2 uchwyty ptaskie. ptaskiego (Rys. 1 pkt. 1) oraz 1 $ruby M8/50 mm (Rys. 1 pkt. 2), 1 $ruby M8/40 mm
2. 2 $ruby imbusowe M8/50 mm z podktadkami. (Rys. 1 pkt. 3) i 2 $rub M8/35 mm (Rys. 1 pkt. 4) z zestawu.
3. 2 $ruby imbusowe M8/40 mm z podktadkami. 3. Dokreé wszystkie éruby mocujace prawy gmol.
4. 4 Sruby imbusowe M8/35 mm z podkfadkami. 4. Powtorzy¢ kroki 1 — 3 instalujac orurowanie po lewej stronie. /
5. 4 obejmy typu ,,U” z nakretkami i podktadkami.
6. Orurowanie prawe.

\7. Orurowanie lewe. /

 Rysunek 1 |

l"l==l-l

www.heed.com.




Instrukcja montazu gmoli dla / Crash bars installation instruction for
Piping should be installed only by a qualified person.

Pay particular attention to the electric beams, brake hoses and rubber hoses for engine
cooling, so that they are not pinched or they doesn't chafe during operation due to
wrong installation of piping.

During installation it is recommended to set up piping freely.

1. Attach the right part of piping (Fig. 1 pt. 6) to the trunk's rack pipe using 2 "U" clamps

/ \ from the set (Fig. 1 pt. 5).
The set includes (as shown on Figure 1): 2. Screw piping to frame's fork using flat holder (Fig. 1 pt. 1) with 1 M8/50 mm bolt (Fig.
1. 2 flat holders. 1. pt. 2), 1 M8/40 mm bolt (Fig. 1 pt. 3) and 2 M8/35 mm bolts (Fig. 1. pt. 4) from the
2. 2 allen bolts M8/50 mm with washers. set.
3. 2 allen bolts M8/40 mm with washers. 3. Tighten all screws holding the right piping.
4.4 allen bolts M8/35 mm with washers. 4. Repeat steps 1 -3 during installation of piping on the left side. /
5.4 ,U” clamps with washers and nuts.
6. Left piping.

\7. Right piping. /

Figure 1|

l"l==l-l

www.heed.com.




